Per the DCC's regs, here is the formula to determine 'dry' weight cannabinoid values:

Dry-weight percent cannabinoid = wet-weight percent cannabinoid / (1 − percent moisture / 100)  

In this case, Landau reported dry weight values and Anresco reported wet weight values (due to limitations with the sample provided).  To make an apples to apples comparison, it would be best to back out of Landau's dry weight values and compare wet weight values for both.

Landau: 46.179% THC = Wet Weight x (1 - 14.6/100)    Wet Weight = 46.179% THC x 0.854 = 39.437% THC (wet)

Anresco: 23.47% THC (wet)

Difference = (39.437 / 23.47) -1 = 68.03%

So comparing apples to apples, Landau's results were still over 68% higher than what we found in the store bought sample.  A huge difference.

Again, there are certainly limitations to what one can extrapolate from one comparison experiment where we're not testing the same sample or performing the test at the same time.  But at some point the difference is vast enough that one can reasonably infer there is likely a problem.


Zachary Eisenberg, VP, Anresco
